Ministry of high education —s — Mid Term Exam November 2047
High Institute for Eng. and Tech. ENG 402 Project Management
in New Damietta Time allowed 90 minute

Answer the following problems

Question 1: (8 marks) ‘

A project has 11 activities (A, B, C,....,K). The time required for each of the eleven
activities and the precedence relationships between the activities are as under:

Activity A| B C D E F G H I J | K
Preceding Activity | - | - AB|'A| C|AD|ABCF|BFG|CDF LH | C
Time days 40 | 20 15 | 25| 15 25 10 15 10 15 (10

A. Draw a bar chart, find out the project completion time and show the critical path
B. Draw the network

Question 2: (12 marks)

For the network shown and the information given below, the contract calls for proiect

comp ithin 44 weeks, with penalties imposed for late delivery, find:
R R . (i B \! . }
¥ Activity te week )
A 5
B s
C 2 ’
D 3 ‘
E 8
F 16
G 9
H 12
1 2

a) Tg, Ty and slack time for each event

b) The critical path or paths, the non-critical paths and the time of each path.

c) the project expected completion time '

d) Is there any penalty for the company?

e¢) Which activities can be delayed beyond the data of the Tg without delaying the project
completion time? And by how many weeks . '

f) What will happen if the expected time of activity C increases by 10 weeks

g) What will happen if the expected time of activity G increases by 10 weeks

h) If the expected time of activity F increases by 5 weeks, by hov: snany weeks Activity H
must be decreased to prevent paying penalty

Best wishes,
Prof. Dr. Mohamed Saad El Kady
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Question |

A pProjecl has W achivities (A,B,¢ -—, k) - The time vequired Por each of the 'elaven

adlivilies and the precedence relationships bédween the adhivities are a3 undor:

Activity A G|lc|o|E|F G -H I J
Pfecid‘ﬂj HC_Ll‘VH'J - — ﬁ;B A C |A,B ﬂ)B)C}F B}F}G C)D;F I,H C

it _— " —

Time days o | 20|15 |26 | 15 |25 10 15 o IS | 1o

A. Draw a bav charl’, Fvinol oul the prject Completion time and show the

crihieal Paﬂfl .
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Question 2

For the nek work Shown and the inPorwatiom given belocw , the contract calls Por
Proyecl complation woithin Yy weeks , with penalties imposec] Por lalz delivery , Pind

le=% TE=32
=S =32 AChivity [te (week)
Te=0 R S
Teso 8 8
C 2
. 11‘.:]6
Te=g Te=25 D 3
TL=8 TL-uz
a. Te,TL anel slack Por each -event. £ 8
F 16
evenC| TL | TE | Slack ¢7_12) G q
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b. The anbical pPath or paths, the non- exitical Padhs and the time P each path.

Patin Durailiony Type
e C— P —- S+2+16¥12 =35 nNowy
AeD—E—lP —oH | 54328 16412 =4y Crificall
ﬂ——ﬁ—C—-;'—-G)—-aaaI 54+249 +72 =18 [\Jo\f\
B— E— F—H B4 B4 16412 = 4t | exrticale
B Bt G —a1 _|8+8+a+ T = 2% | Nown
A—e-D—-F —= G—L| 5+ 3+ 8+ 942 = 23| Non

C- The projed expected GComplaion time.-
- The project expecled complelion hime = yy weeks.
d. Ts theve any Penalty fFor the company 9
- Theve isnol any penally For the company becaus€ of the pPrgjecl uiation ec,uaLfa

e conhracl duralion = Yy wezks.

(-




e. which adtivihes can be delayed beyond the dala of the Te without olelaying
the pnyedL wmplation time 7 And by haew many weeks.
-~ Because op the slacye line beliveen .c.uc‘l“'uil'j G andl acl‘fur‘l‘j I = TL_TE= 17 weeks.
()i c‘h’uil‘\j T Can be culqjed 17 weelcs withouw .dﬁ'aﬂiﬂﬂ tha pYOJec‘f' @m.PIE“UY! +wmae .
(2)rov Achvily G can e olelcwecl 13 weekts  cwitoud olﬂ,fayfy]f) the Prgjed complalion Tome.
(3):0x bolh of ouc.f‘n'uiTj Tand ¢ can be delayeel 13 weeks togelher.

Fo that will happen P the expected time of aclivity C increages by 10 weeks .
—rE‘=S T==33

—E_:S

“‘T_ =’;,'
TE=8 Te=28

Tf_:fI TL:L’S’
— P Hhe expecled Hme of ma‘h’uil‘gj C mcreases f:,::} lo weeks \-.. .

(1 The Prcgec" Complefion bim2 (il mcveases by I week.
(2y: The ac‘i‘iu}'ly-'c il @wver!s Prom nom extiosl a;cil‘-iu(i'tj to cmtical acﬁu'ﬁ\s‘-
(3Y: e cwvhcal Path win Chomges to : Ao o P—=H.

9. whda will happen iP the expedled tima of activity G increases by lo weeks.
TE=5 '[?::3?-

Te-yy
TL=yy

T =42
_if ihe expecled fime ol acl‘iul\'\uj G increases ":’J 10 weeks theve is wnat Hdvg

will happem because of the acﬂu'\\'\\j G Was aslack Yiwme = I1F weeks

h. IF e expected time of activity R increases by S weeks, by how many weexs
achuity H mugl” be decveased to prevent Paying Pma}fy-
~To Prevent pPaying penally qc:l‘u'u}-l'j H wust decreased by S ureKs (P ac&ﬁuifj

P increases by 5 weeKs because off the two activities ave emitical achivities.




